/)X(Q\[‘\/4 Mark scheme

November 2003

QUALIFICATIONS
ALLIANCE

GCSE

Science (Modular)
Double Award and Physics

Module 09

Copyright © 2003 AQA and its licensors. All rights reserved.

The Assessment and Qualifications Alliance (AQA) is a company limited by guarantee registered in England and Wales 3644723 and a registered charity number 1073334.
Registered address AQA, Devas Street, Manchester M15 6EX. Dr Michael Cresswell Director General.



AQA/ GCSE: Science (Modular) Double Award & Physics — Module 09 November 2003

Energy: Foundation Tier

Question Key

One 1 — light

2 —movement (kinetic energy)
3 — heat (thermal energy)

4 — sound

Two 1 — radiation

2 — convection
3 — conduction
4 — insulation

Three 1 — fossil

2 — water

3 — turbine

4 — generator

Four 1 —tidal
2 — gas-fired
3 —nuclear

4 — hydroelectric

Five 1 — hydroelectric
2 —solar cells
3 — tidal

4 — geothermal

Six no fuel is used
no sulphur dioxide is produced

Seven the efficiency of the kettle is 0.9 (90%)
the power of the kettle is 2000 W

Eight 81-A, 82-C, 83-B, 84-C

Nine 9.1-C, 92-C, 93-B, 94-C

Ten 10.1-D, 102-B, 103-C, 104-A
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Energy: Higher Tier

Question Key
One 1 — hydroelectric

2 —solar cells

3 —tidal

4 — geothermal

Two 1 — nuclear

2 —wind

3 —coal

4 — hydroelectric

Three the efficiency of the kettle is 0.9 (90%)
the power of the kettle is 2000W

Four P

R
Five 51-A, 52-C, 53-B, 54-C
Six 6.1-C, 62-C, 63-B, 64-C

Seven 7.1-D, 72-B, 73-C, 74-A

Eight 81-D, 82-A, 83-C, 84-C

Nine 91-B, 92-B, 93-B, 94-C

Ten 10.1-B, 102-D, 103,-C, 104-C




